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Round 1- Tossups

1. An organic molecule with this many carbon atoms is defined to have zero ring strain and comes in “chair” and “boat” configurations. A group on the Periodic Table designated with this number contains elements which lose an electron from the s subshell to half fill the d shell. The n = 1 case for Huckel’s rule states that compounds with this many pi electrons will be aromatic. Although it is not eight, (*) octahedral compounds have this many ligands. Kekule had a dream about a cyclic compound with this many carbon atoms named benzene. For ten points, name this number which is also the atomic number of carbon.
ANSWER: 6 
2. In 2006, one organization that fights for this policy awarded Ross Mirkarimi for his support and is known as NORML [pr. Normal]. One proposal about this policy introduced in 2012 pushed for a law named OCTA to be approved in Oregon. This policy was considered by the 2005 case Gonzales v. Raich. A piece of legislature named Proposition (*) 19 introduced to resolve this issue was rejected by California in 2010. For ten points, name this legal issue recently voted upon in Colorado which focuses on decriminalizing the use of a certain drug sometimes for medical purposes.
ANSWER: legalizing marijuana (prompt on partial answer; accept alternate answers for marijuana like “cannabis,” “pot,” “weed,” etc.)
3. One character in this opera sings the aria “O ma patrie, mon couer te sacrifie” during a party. Act II of this opera begins with the tenor Arnold participating in a duet with the singer of the aria Sombre foret. The protagonist’s wife Hedwige is told to light the beacons after the title character refuses to bow to Gessler, after which the aria (*) “Sois immobile” is sung. This opera’s overture includes a duet for flute and horn in its “Call to the Cows” section and ends with a famous galop theme. For ten points, name this opera by Gioachino Rossini about a legendary Swiss marksman who shoots an apple off his son’s head.       
ANSWER: William Tell (or Guillaume Tell) 
4. The defendant in this court case was later involved in another decision that ruled no person who is legally insane can be executed after being convicted of a crime; that case dealt with Alvin Bernard Ford. In this case, the petitioner was represented by Abe Fortas, and Hugo Black cited Powell v. Alabama. This case under (*) Earl Warren began after the defendant’s sixth amendment rights were violated after being convicted of breaking into a Florida pool hall. For ten points, name this landmark 1963 Supreme Court case which ruled that impoverished defendants have the right to an attorney.   
ANSWER: Gideon v. Wainwright (or Wainwright v. Gideon)  
5. This phenomenon includes a stage of adsorption and occurs more with females according to the five laws of Ernst Ravenstein. This activity is usually affected by both “push” and “pull” factors, and its probability is affected by intervening opportunities. The theory of distance decay states that social interaction (*) decreases as this activity increases. The build-up of social bonds due to multiple instances of this activity is due to its “chain” type. Transhumance is defined as this activity done by native people and their livestock in a seasonal pattern. For ten points, name this activity which involves humans moving from one place to another.
ANSWER: migration (accept immigration or emigration; prompt on things like “moving from one place to another”)
6. The speaker of this poem realizes that “Now more than ever seems it rich to die” because he called the subject “soft names in many a mused rhyme.” In another stanza, the speaker “cannot see what flowers are at my feet” or the “soft incense” that “hangs upon the boughs.” The speaker of this poem is “half in love with easeful death” and will be charioted “on the viewless wings of (*) Poesy.” It begins “My heart aches and a drowsy numbness pains my sense” and asks ‘Was it a vision, or a waking dream?” Its subject was “not born for death” and is called “Immortal.” For ten points, name this poem written to a bird by John Keats.
ANSWER: “Ode to a Nightingale” 
7. Examples of this form of composition include The Skaters by Waldteufel, and another begins with a series of unison marcato notes before a caesura and is Lehár’s Gold and Silver one. Another of these compositions in D-flat evokes the image of a dog chasing its tail. Tchaikovsky wrote one concerning (*) flowers for The Nutcracker. The master of this form dedicated one to Emperor Franz Josef and wrote another in which a solo horn introduces the main theme. For ten points, name this style of dance music in three-four time, exemplified by Chopin’s Minute and Johann Strauss II’s On the Beautiful Blue Danube.
ANSWER: Waltz (prompt on “dance” before it is mentioned)  
8. One source claims that this man’s son was accidentally killed during a skirmish with the Solymi tribe. This father of Isandros was accused of raping the “cattle queen” Anteia after rejecting her advances, but was spared by the King of Lycia. After failing his most famous mission, this figure walks around the Earth blind. A Corinthian seer told this son of Eurynome to fall asleep in Athena’s temple to receive a golden (*) bridle for a task in which a gadfly stopped his climb of Mount Olympus. For ten points, name this slayer of the Chimera who tamed the winged-horse Pegasus.   
ANSWER: Bellerophon 
9. The subject of one version of this painting is next to a woman that stands next to a map in a Paul Baudry work. Words present on one item in this painting tell the reader to deliver the assignat to a “mother of five children.” Another version of this painting depicts a nude woman with orange hair and is one of two by Edvard Munch. In this work, a knife lies on the floor and an (*) inkwell sits on top of a wooden block. The subject, who in real life had a skin-disease, holds a note with Charlotte Corday’s name. For ten points, name this painting depicting the title French revolutionary dead in his tub, a masterpiece of Jacques-Louis David.    
ANSWER: The Death of Marat (or Le Mort de Marat)
10. The target of this event was supposed to be taken from Coombe Abbey by Everard Digby, the only one to confess to the crime. The main participants met at the Duck and Drake Inn to garner the support of noble Robert Wintour. The tables turned when Lord Monteagle reported that he’d received a suspicious (*) letter from Francis Tresham. Fueled by Catholic beliefs, this event led by Robert Catesby was supposed to see James I replaced by Elizabeth of Bohemia. For ten points, name this 1605 conspiracy in which Guy Fawkes failed to blow up Parliament.  
ANSWER: Gunpowder Plot (prompt on “blowing up Parliament” or similar answers)  
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11. This quantity represents the z-axis in Minkowski space, and the square of it is multiplied by the square of the speed of light to calculate a certain invariant interval. In circuits, the product of resistance and capacitance has units of this quantity, its namesake “constant.” Its conjugate is total energy. This quantity is multiplied by the Lorentz factor for objects travelling near the speed of light, resulting in its namesake (*) “dilation.” If acceleration is constant from rest, then net displacement is proportional to the square of this quantity. The derivative of velocity with respect to it is acceleration. For ten points, name this quantity measured in seconds.
ANSWER: time 
12. One character in this book is able to avoid being shot by a sailor by reminding him that it’s been eighteen-years since his sister died; that sailor is later killed on a hunting trip after being mistaken for a rabbit. The protagonist of this novel refuses to be in the same room as Alan Campbell when he disposes of a body and causes the death of an (*) actor named Sibyl Vane. After the main character of this book becomes obsessed with staying young, he kills Basil Halward and is later destroyed by his own magical portrait. For ten points, name this only novel written by Oscar Wilde.
ANSWER: The Picture of Dorian Gray 
13. The breakdown of hydrogen bonds by enzymes called expansins occurs when these substances increase voltage across a membrane. That action is caused when these substances stimulate proton pumps according to the acid growth hypothesis. Their synthesis occurs in the (*) apical meristem, and a natural one of them is IAA. These hormones play a large role in the formation of adventitious roots and in behaviors like phototropism. For ten points, name these plant hormones that, like gibberellins, play a role in stem elongation.
ANSWER: auxins (prompt on “plant hormones”)
14. During this holiday, adherents must adhere to the niyah, or good intention. Compensation for not observing it is called fidyah, by which participants donate money to the poor. This observance includes the “Night of Power”, and, during it, adult males are obligated to attend a gathering called the (*) Tarawih.  Each day of this holiday is marked by the suhoor and iftar. The end of this holiday is marked by a festival called Eid-al-Fitr and is directed by the pillar sawm. For ten points, name this month long holiday during which Muslims fast.
ANSWER: Ramadan 
15. After the protagonist of this novel listens to The Red Badge of Courage, he falls asleep and dreams of giraffes. In this book’s third chapter, an acquaintance of the protagonist gives him a treasured knife and is told to ask for Wild Bob when visiting Cody, Wyoming. A former movie star named (*) Montana Wildhack mates with protagonist of this novel when held prisoner by the alien Tralfamadorians. For ten points, name this novel about the “unstuck in time” Billy Pilgrim and the firebombing of Dresden, which was written by Kurt Vonnegut.  
ANSWER: Slaughterhouse-Five 
16. This leader helped Isaac Brock defeat the forces of William Hull during the Siege of Detroit. This figure allegedly proclaimed “War forever! War on the dead! War on the living” during a speech he delivered to the Muscogee at Tuckaubachee. His proposal to ally with the Miami was rejected by chief (*) Little Turtle, who instead agreed to the Treaty of Greenville. This man’s brother Tenskwatawa helped to instigate a conflict that included the burning of Prophetstown. For ten points, name this Shawnee leader whose namesake “war” was effectively ended by William Henry Harrison at the Battle of Tippecanoe.  
ANSWER: Tecumseh 
17. According to a problem formulated by de Montfort, the probability that a large number of hats will all be sorted into the wrong box is given by this number’s reciprocal. For large n, it equals n divided by the nth root of n factorial according to Stirling’s approximation. It’s not zero, but the derivative of a function involving this number yields (*) itself. Compounding a dollar continuously at one percent interest will converge to this amount of money, formally defined as the limit as n goes to infinity of “one plus one over n to the n.” For ten points, name this number which is the base of the natural logarithm, approximately 2.718.
ANSWER: e (or Euler’s constant; do not accept Euler-Mascheroni constant) 
18. One poet who wrote in this language asked “who can tell the end of the endless changes of things?” That same poet notices that “taking one’s pleasures must last till spring” in another work. In another poem originally written in this language, the speaker describes a time when her “hair was still cut straight across” her forehead. A poet who wrote in this language described (*) drinking wine under the moon in “The River Merchant’s Wife.” For ten points, name this language used by Li Po and Du Fu, two Tang Dynasty-era poets.  
ANSWER: Chinese 
19. The Chalkidian League was defeated by this man’s father, who signed peace negotiations with Philocrates. This leader had Cleitus the Black executed, an action he later lamented. His predecessor developed a spear called the sarissa and commanded an army that defeated the Sacred Band of Thebes. This man commanded the left wing at the Battle of (*) Chaeronea before his death, after which his empire was split by the Diadochi. His greatest military victories over Darius III came at Issus and Gaugamela. For ten points, name this son of Phillip II, a Macedonian king called “the Great.”
ANSWER: Alexander the Great of Macedon (or Alexander III of Macedon; prompt on “Alexander”)  
20. The Down East section of this state includes the cities of Ellsworth and Calais. The city of Kennebunk [pr. Kenny-bunk] in this state is home to the Nature Conservancy Blueberry Barrens. At one point, a city in this state ran a ferry known as “The Cat” to and from (*) Canada. Though not Oregon, Portland is this state’s largest seaport and also its most populous city. Mount Desert Island and Acadia National Park are popular tourist attractions in this state. For ten points, name this northernmost New England state with capital at Augusta. 
ANSWER: Maine 
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21. One character in this novel decides to hold a party after the citizens vote to build a streetlight in the middle of town. The protagonist of this novel witnesses a man being teased for the weak appearance of his mule and is forced to wear a rag over her head. In this novel, the protagonist meets a stranger named (*) Tea Cake in Eatonville, Florida and decides to marry him. At the end of this book, that spouse is bitten by a rabid dog. For ten points, name this novel about the southern Janie Crawford written by Zora Neale Hurston.
ANSWER: Their Eyes Were Watching God 
Round 1 - Bonuses
1. One artist from this nation depicted Octave Maus wearing a light blue coat. For ten points each:
[10] Name this country home to Theo van Rysselberge and other members of Les XX [pr. Les vahnt]. Another artist from this nation was James Ensor, who depicted Christ walking into its capital of Brussels.
ANSWER: Belgium
[10] Belgium was also the home of this surrealist artist, who depicted a train shooting out of a fireplace in Time Transfixed. 
ANSWER: Rene Magritte
[10] Rene Magritte’s iconic use of bowler hats is evident in his The Son of Man. In that painting, the subject’s face is blocked off by one of these unusual items. 
ANSWER: apple (prompt on “fruit” or general answers)
2. In this poem, the larks “fly scarce heard amid the guns below.” For ten points each:
[10] Identify this poem in which “the poppies blow/Between the crosses row on row” in the title location. 
ANSWER: “In Flanders Fields”
[10] This Wilfred Owen poem takes its line from an ode by Horace and describes soldiers who are “bent double, like old beggars under sacks.”  
ANSWER: “Dulce et Decorum est”
[10] Both McCrae’s “In Flanders Fields” and Owen’s “Dulce et Decorum est” are poems about war. Another poet who fought in this war described its trench warfare in the poem “Counter-attack.”
ANSWER: World War I  

3. The 2011 Boston Bruins won the Stanley Cup after winning 3 seven-game-series and returned the Cup to Boston for the first time since 1972. For ten points each:
[10] The Bruins defeated this Canadian team in the Stanley Cup Finals. This team has not won a Stanley Cup in its more than fourty years of existence.
ANSWER: Vancouver Canucks (accept either city or team name independently)
[10] This goalie for the Bruins became the oldest player to win the Conn Smythe Trophy as the MVP of the playoffs. He also broke the record for most saves in the playoffs as well as in the Stanley Cup Finals.
ANSWER: Tim Thomas
[10] This defenseman became just the second European to captain a Stanley Cup-winning team when the Bruins won. He is also the tallest player in NHL history and stands an astounding 6’9”.
ANSWER: Zdeno Chára 

4. Lithium aluminum hydride and Grignard reagents catalyze this type of reaction. For ten points each:
[10] Name this type of reaction in which an atom’s oxidation state decreases because it gains electrons. It is usually contrasted with an oxidation.
ANSWER: reduction reactions 
[10] At standard conditions, this value for a voltaic cell can be calculated by subtracting its value at the anode from its value at the cathode. At non-standard conditions, this quantity can be calculated using the Nernst equation.
ANSWER: cell potential (or standard reduction potential or cell voltage)
[10] A value of zero volts is assigned on the scale of standard reduction potentials to the reduction of protons into this compound.
ANSWER: hydrogen gas (or H2) 
5. Before this event, a police raid at Liliesleaf Farm resulted in the detainment of Lionel “Rusty” Bernstein. For ten points each:
[10] Name this 1963 to 1964 proceeding in which members of the African National Congress were prosecuted for criminal activities. After this event, a prominent leader gave the “I am prepared to die” speech.
ANSWER: Rivonia Trial
[10] The Rivonia Trial resulted in the indictment of this South African anti-apartheid leader, who was sent to Robben Island and later became the President of South Africa.  
ANSWER: Nelson Rolihlahla Mandela
[10] Nelson Mandela was preceded in office as the President of South Africa by this man, who facilitated Mandela’s release from prison. 
ANSWER: Frederik Willem de Klerk 
6. One of the characters in this play arrives at the room with Second-Empire style furniture after suffocating to death. For ten points each:
[10] Name this one-act play in which Estelle, Inez, and Garcin argue about whether they are dead or not. It is set in a single room.
ANSWER: No Exit (or Huis Clos)
[10] No Exit is a play written by this French author, who also wrote about a “sweetish sickness” possessed by Antoine Roquentin in his book Nausea.
ANSWER: Jean-Paul Charles Aymard Sartre
[10] This Sartre play set in Illyria focuses on a Communist named Hugo who is tasked with killing Hoederer and winds up in jail because of it.
ANSWER: Dirty Hands (or Les Mains sales)  

7. This man’s general Pompeianus died at the Battle of Verona. For ten points each:
[10] Name this illegitimate Roman emperor who challenged the power of the Tetrarchy. He drowned in the Tiber after losing an October 312 battle, where his opponent allegedly saw a cross in the sky.
ANSWER: Marcus Aurelius Valerius Maxentius Augustus 
[10] Maxentius was defeated at the Battle of Milvian Bridge by this first Christian Roman emperor. He co-ruled with Licinius and granted more rights to Christians with the Edict of Milan. 
ANSWER: Constantine I (or Constantine the Great or Flavius Valerius Aurelius Constantinus Augustus)
[10] During Constantine the Great’s rule, he called the bishops of Rome to this 325 ecumenical council, at which the bishops resolved to reject Arianism.  
ANSWER: First Council of Nicaea  

8. The protagonist of this novel befriends the tuberculosis-stricken Helen Burns at Lowood School. For ten points each:
[10] Name this novel in which the title character marries the blind Edward Rochester after surviving a house fire started by the insane Grace Poole.
ANSWER: Jane Eyre
[10] Jane Eyre was written by an author with this surname shared by a trio of sisters named Emily, Charlotte, and Anne.
ANSWER: (Charlotte) Bronte 
[10] When Jane is stuck at the Reed house, she is punished for starting an argument with her relative John by being sent to this place. It is in this place that Jane thinks she sees her grandfather’s ghost.
ANSWER: the red room (accept equivalents like “the room that’s red”; prompt on just “room”)  
9. One collection of prayers sung in this language is divided into the Proper and Ordinary. For ten points each:
[10] Name this ancient language which was commonly set to voices to reenact Jesus Christ’s crucifixion during the Catholic Mass. The title of the last section of Mass, the “Agnus Dei,” is in this language.   
ANSWER: Latin
[10] Each section of Mass used to contain this type of plainsong. They contain single-line melodies called neumes and are named after a 6th century pope.
ANSWER: Gregorian chants (prompt on plainchant or just “chant”)
[10] This is the name of the first section of a Gregorian melody’s Ordinary. It is responsorial and has a ternary form that represents the Trinity, and its name means “Lord, have mercy” in Greek. 
ANSWER: Kyrie eleison (pr. Key-ree-ay e-lay-son)  

10. The meeting point of three of these features is dubbed a triple junction. For ten points each:
[10] Name these geographic features, the existence of which explains why natural phenomena like earthquakes and the creation of mountain occur at the lithosphere.  
ANSWER: tectonic plates (or plate tectonics)
[10] Plate tectonics can create an underwater mountain chain called a mid-ocean ridge, which is where this process of creating new oceanic crust occurs.
ANSWER: seafloor spreading
[10] Tectonic plates collide together at these locations. One of the most famous examples of these locations is the Izu-Bonin-Mariana arc, which contains Challenger Deep.
ANSWER: convergent boundary (prompt on “boundary”) 
11. In Act III of this opera, Edgardo kills himself at Ravenswood Castle. For ten points each:
[10] Name this Italian opera based on a Sir Walter Scott novel. The title character of this opera sings the aria “Regnava nil silenzio” after seeing a ghost.
ANSWER: Lucia di Lammermoor
[10] Lucia di Lammermoor is an opera by this Italian composer, who along with Vincenzo Bellini was a master of the bel canto style. 
ANSWER: Gaetano Donizetti
[10] After Lucia stabs her new groom in the “Mad Scene,” she fantasizes about Edgardo in the aria “Il dolce suono.” That aria is sung in this highest female vocal range.
ANSWER: soprano (accept “coloratura soprano”) 
12. For ten points each, identify some things about cartoonist Thomas Nast:
[10] Thomas Nast was known for his scathing representations of the political machine Tammany Hall, which was based in this city. 
ANSWER: New York City
[10] In an 1871 cover of Harper’s Weekly, Thomas Nast used the phrase “To the victors belong the spoils” to depict a beat-up version of this then “boss” of Tammany Hall.
ANSWER: William “Boss” Tweed
[10] In another cartoon, Thomas Nast depicted Lady Liberty being mauled by this animal while Boss Tweed watches from a throne. Nast used this animal to represent the “Tweed Ring.”
ANSWER: tiger 


13. For ten points each, name these geographical features of Ukraine:
[10] This region of southern Ukraine lies on the Black Sea and the Sea of Azov and occupies a namesake peninsula.  It contains the port of Sevastopol and the resort city of Yalta, and was the site of a namesake “war.”
ANSWER: Autonomous Republic Crimea
[10] Ukraine contains a portion of the central chains of this second-longest European mountain range. The Tatras of Poland and Slovakia contain its highest peaks, and it forms the Iron Gates with the Balkans on the River Danube. 
ANSWER: Carpathian Mountains
[10] This second longest river in Ukraine is noted for its hydroelectric dams. This river flows first through Russia and Belarus before passing Kiev and later emptying into the Black Sea.
ANSWER: Dnieper River (accept Dnipro River) 
14. This novel opens on a porch with a caged mockingbird and parrot at the house of Madame Lebrun. For ten points each:
[10] Name this novel set in New Orleans about a Creole woman named Edna Pontellier, who at the end of the book commits suicide by walking into the ocean.
ANSWER: The Awakening
[10] The Awakening is a short novel written by this American author. 
ANSWER: Kate Chopin (or Katherine O’Flaherty)
[10] This character in The Awakening retains her views of the traditional Victorian woman throughout the book. She is the principal character who reminds Edna about caring for her children.
ANSWER: Adele Ratignolle (accept either)
15. The collapse of the Tacoma Narrows Bridge is often erroneously blamed on this phenomenon. For ten points each:
[10] Name this phenomenon in which the vibration of  a system dramatically increases in amplitude at certain frequencies.
ANSWER: resonance
[10] This form of wave is often formed in resonance. In these waves, nodes and antinodes remain in place. They can be demonstrated by tying a string to a fixed point.
ANSWER: standing waves
[10] In a standing wave, this name is given to integer multiples of the fundamental frequency which cause resonance.  The second one of these corresponds to the first overtone.
ANSWER: harmonics 
16. This essay’s section “The Present Dilemma in Philosophy” quotes G.K. Chesterton’s Heretics. For ten points each:  
[10] Name this 1907 essay subtitled “A New Name for Some Old Ways of Thinking.” This essay asks the question “Does the man go round the squirrel or not?”
ANSWER: “Pragmatism: A New Name for Some Old Ways of Thinking”
[10] Pragmatism was a philosophy championed by this American thinker who asserted belief in God without evidence can be rational in his lecture The Will to Believe.    
ANSWER: William James
[10] Pragmatism was championed by James Dewey, who stated that children should “learn by doing” in a book on this topic and education. Alexis de Tocqueville wrote about this political system “in America.”  
ANSWER: democracy (accept word forms) 
17. In the 1950s, strains of the bacteria Shigella were found to have “resistance genes” that hindered the effectiveness of antibiotics. For ten points each:
[10] Those “resistance genes” are carried by R plasmids, which are essentially just circular globs of this material. Unlike RNA, it has a double-helix structure.
ANSWER: DNA (or Deoxyribonucleic acid)
[10] Plasmids can be exchanged via this DNA transfer process. During it, one bacterial cell donates DNA to the receptor cell by using sex pili to attach the two cells together and form a temporary bridge.
ANSWER: conjugation
[10] For the donor cell to be able to transfer DNA during conjugation, this collection of twenty-five genes must be present to allow for the production of sex pili. It can be present as a plasmid or a DNA segment.
ANSWER: f factor (accept fertility factor; accept f plasmid)
18. For ten points each, answer some questions about the ice-giant with sweaty armpits:
[10] First, name that first sweaty ice-giant from Norse mythology who was formed in the primordial world of Ginnungagap. 
ANSWER: Ymir 
[10] Ymir’s blood drowned all the other ice-giants after he was killed by this last of the first three Norse gods. This one-eyed god owns Sleipnir and is the chief leader of the Aesir.
ANSWER: Odin 
[10] Since Odin couldn’t take down Ymir himself, he needed the help of his two younger brothers. All or nothing, give the names of both those brothers. 
ANSWER: Vili and Ve (or Ve and Vili; prompt on partial answer) 
19. This dynasty was crippled after the peasant rebellion led by Huang Chao. For ten points each:
[10] Name this dynasty which is considered to have been founded by the ruthless Taizong and ruled from the city of Chang’an. It existed from 618 to 907 C.E.
ANSWER: Tang Dynasty
[10] The Tang Dynasty was the successor of this other dynasty, which was led by the tyrannical Emperor Yang. During this dynasty, the construction of the Grand Canal began. 
ANSWER: Sui Dynasty 
[10] The Tang Dynasty was also severely weakened by this 755 rebellion led by a general who founded the breakaway Yan Dynasty in Northern China.
ANSWER: An Lushan Rebellion 
20. For ten points each, name these things about Jewish songs:
[10] On Chanukah, children often sing during a spinning game about these objects which have the letters Nun, Gimel, Shin, and Hei. They are spun and are typically made out of clay.
ANSWER: dreidels (or dreydl or dreydlekh)
[10] The four questions in the Ma Nishtanah text are usually set to song during this Jewish holiday, which also includes the reading of the larger Haggadah text.
ANSWER: Passover 
[10] This other song recited during Passover contains fifteen stanzas which are divided into five stanzas discussing slavery, miracles, and God. The name of this song roughly translates to “It would have been enough.”
ANSWER: Dayeinu  
21. One side at this battle is remembered for its grand-scale use of fast ships called triremes. For ten points each:
[10] Name this September 480 B.C.E. naval battle at which a Greek army led by Themistocles defeated forces of the Achaemenid Empire, ending the Persians’ attempts of conquering the Peloponnese.  
ANSWER: Battle of Salamis
[10] The losing commander at the Battle of Salamis was this king of the Achaemenid Empire. He is also known for defeating Leonidas of Sparta at the Battle of Thermopylae.
ANSWER: Xerxes I of Persia (or Xerxes the Great or Khashayar Shah; prompt on “Xerxes”)
[10] One year after the Greek victory at Salamis,  the Greeks led by Pausanias again defeated the Mardonius-led Persian Empire at this battle near the Cithaeron Range.   
ANSWER: Battle of Plataea 
